x Aol —6 o]al y dHo] -3 Q1 IAHZIT A (k, —4) E AL W, k

o] grg Ffedel.

D
=%



AEHY 919 A A (a, 6), (4, 3), (2, 5)7F &

of gre Fotefer.

]
2

A

—

_OA

o

()]
AR

o

m,



3. o= IHIE2 IAZ foll A (a, -13) o] A= W, a & FH27

yl\

W =
Lo~



=-3x+2

®y

@ y=2x+

=—-x+4

Dy

3
5
1
2

® y=4x+

@ y=§x—3






Ty =-x+49 1z}l F3Y
b+ o7b JHRITAl gtk
® -1, 4 @ -1, -4

@ 1,4 ® 4,1



|

ﬁﬂo]%/\]iﬂ)\]}‘ib‘l O] )

1 :; = A ‘4 :I— 1 o'—]:l_ T4 =) -y =
> = ] SH O] ol— Sk
. ] O O [e)
) J %
( — O Ir o

\:l_/l\‘j"f(—a) =a



o|J
A~

@ 1 ® 2

® 0



:3x+6_?,}—y:—2x+3+b7}'x%‘ﬂoﬂ/‘—1 M=
b O 27






11. x H¥o] 3,y dHo] 2 ¢l dafeto] 1o 7|27 =7

2 1
@ ®‘§ ®‘§ @

[SUIRN)
o w



Fry = —dx+3 9 TPTE y Z0] 29
ot o] 2Tt AtE AHERH S
A, Al e ARzl &, a+ b+ e O] 7

k)



13, the T ol y = ke & TR x T}y = dx ©] T Aol
9171 1% k 9] 2l WL

YA y=4z
y=kzx
0 z
®o<k<1 @ 0<k<3 ®0<k<4

@ 0<k<4 ® 0<k<5



14.

= 5 1 L7} B0 e et PRt A B et
uA,
2
2 4,
-2 10 T
=2
=4
B
1
@y:ix—]_ @y:—2x+5
1
© y=2x-5 @y:—§x+3
1 1
@y—2x—§ @y—§x+3

B =




15.

QARS y = 8x-2a 419 THALE A (3, 2) & Adef. o 2=

2 y5O WFOR b BAOIFFHANY y = cx—49] 12}
e b )

QAstsiet. o, 2 o] ghg oot

5 KL
S



1 - .
16. y=ox-5 o defue] sk Ao §2 2

© y=-2(5r-2) o ehmet gapsich
@ y= g (2x+4) o Teme} W) g,
® y=2x o] Tems} v,

@ y=-5(-x-3) 9 T} vy

2 —
©y= g(x+6) o] 2 ZE x
WFes A4 I8 & e 2=

o

29

Zo|ggon T
1



4

x4 5 2] T3 Sfe] 9l o] o

20 o)

]

A

29



29

At ofmf, m 2] gk

[e]
)8

bE A

<]









